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1B g A3 J1aw JS) (ddaie (pe JLASNI) A gud gal! Al -¥ of

1- The opposite figure illustrates a top view Uz e o9 Jalaed! gsadi -
for a vertebra in human body. Study it and | olus¥! ews 2 5,240 Lewl,
then answer. NUPS PP

Which of the numbered parts is in the 0950 A—al poll o1 jmn ¥ é’|
same direction of the facial part of the 6981 ¢ ! ol (pudd B
skull? Tdanenl

@ 1 ® 2 © 3 @ 4

2- What is the role that is played by insulin | &g 2 d_abs i1 joutl Lo -Y
hormone in oxidation of glucose inside | 35S st 5uwSi S8 (it g ¥
the body cells? Suuaxd ) LS S50
(@) Converts the excess glucose into AT SeSelntt Jg—o @
glycogen that is oxidized when e Sy (s oSl ()
needed. PR PAPR]

@ Activates respiratory enzymes inside Al Slea 33 ¥ dadi @
liver and muscle cells. OSaal g LS LM S50

(© Passes glucose through the duidl e 55Sslntl s 0e ()
membranes of body cells. (et LM

(@ Passes glucose through the intestinal wllay jie j9S landl 5 pan @
lining to the blood. Al slae¥
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3- Study the drawing that illustrates the
thyroid gland and then conclude.

Buad s 93 (ST @ p 31 (yuyat =Y

.C_"CCLM‘ @ (a8t

Which parts of the gland are affected by | 5alyj0 o503t o1 i :gi
the increase of calcium level in the blood? SAA (58 A gt ST (6 lune
@ A,Band C. .CB.A @
(® B, CandD. DLB O
(© Band D only. DB &
@ C and D only. Jazd D .C @

4- If the original chromosomal number in the | Glo¥cle guga g St aue OIS 3] - £

somatic cells of a living organism is (2N). | .(2N) o> (IS doous LSS
What is the chromosomal number in LM (0 990 9 »SH Scbatl Lo
the cells of individuals produced from 0,85 (e ALY 5 0%
its reproduction by conjugation? SO 1B Ly

@ 2N. 2N (D
® 4N. AN @

@ N or 2N. 2N 5N @
(@ 2N or4N. AN 52N (5
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5- What is the source of the food substances | a5 a&14at 3 gt jlne Lo -0
required for nutrition of the ovule in SILILAY (-8 A gd ) Alald
flowering plants? Sa 30
(@) The nucellus and micropyle. it g Al gt @
(b The funicle. Gl i3t (Q)
(©) The micropyle. a2l
@ The ovary wall and nucellus. e XPOPPVLL [PRFCIUIN [ RV @

6- What is the similarity between the bone | alaat gLsd oo dcitt dxg o -
marrow and thymus gland? S A gall) BARYY g

@ Picking up foreign bodies. Aoyl alus ¥ dolant
@ Formation of lymphocytes. 0 gLaa T LS g 983

@ Maturation of lymphocytes. A glacdtl LT g

O®OO

@ Storage of basophils. e LET LSBT [y 353
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7- Study the drawing that illustrates some £1991 pan (o GO e I (pupal -V
types of immune cells and then conclude. ! @3 e Led | LSS

What is the type of immune cell lettered | yl-del! ducbiad) ddinti g9 Lo
by (C)? 3(C) by et
@ Monocyte. 319531 i g

@ Lymphocyte. Jaglacd
@ Eosinophil. el
@ Basophil. Aaeld

O®OO

8- If the percentage of adenine in a rRNA 5 2 Omeaa ¥ A SIS 13 -A

molecule is 15%. /Yo IRNA
What is the percentage of pyrimidines | 128 2 Olinaties md Al Lo
in this molecule? St

@) 15% ne (1)
® 35% o (9
@ 50% VA X @

(@ Should be tested chemically. il Laslnt oy (3)

[4]
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9- Which of the following isn’t considered | jailas (e das¥ b l.«@ -4

from the characteristics of the human § (8 i) A gt
genome?
(@) The genome of nerve cells is dpaall LM s ()
non-coding. A9 pad Jam ¥

@ The genome of liver cells 1sn’t

i . Al ¥ WS LA 2 g0
different from the genome of skin e S @

AL p g (o

cells.

@ Number of genes responsible for glalge U ghuadlOliantlaus @
synthesis of ribosomes is equal in JS 2 ludn Olegugu
both liver and pancreatic cells. NIV PR (PAW T LV EW

@ Some mature human cells do not b AL L) e @
contain a genome. Ay ole g ¥ Olusy!

10- What are the cells from which interferon | Jje ;Sas =1 LMt Lo -\

genes could be isolated to be cloned? N Lge Tilig 5@ 0¥ Ol

$ 1ot @y

@ The cells infected by viruses. 2w et Lolacd | LSS @

@ E-coli bacterial cells resistant to ¥ Lt i by S LS @
phages. el 2eglaatl (E.coli)

(© All human body cells exposed to DYl o LSS S ()
viral infection. Glug pally 2alio S Gyl

@ Cells neighbouring to the cells LT 3 yglonadl LiSASNT @
infected by viruses. Ol g palls iabaed!
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11- Study the drawing in front of you and @ wilabel (oIl @y 3l (st =\
then conclude. !

Plasmid

/A

How many enzymes are required for Waglhagtt Olay 3% ade @S
introducing the gene into the bacterial | dw)ddt 8 (mentt JLa¥

plasmid? QEEE

@ One type of restriction enzymes. padll Slea il (pa dalg g 99 @

@ One type of restriction enzymes g9 el Olaa ol (e £ 65 @
and one type of ligase enzymes. oy )1 Olas 331 (pe

@ Two types of restriction enzymes. il Siley 33 (o Ole g3 @

@ Two types of restriction enzymes il Slaa 31 (e Ole g9 @

and one type of ligase enzymes. a1 Ola 3] (pa dnlg ¢ 45

[6]
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12- Study the figure which illustrates one of
the human body joints then determine.

o i gy (O SN (g gl =\ Y
Al ‘Q:Y 4()@}" (A Jolas

What happens when this joint a0 e Crdon by Lae :;i
is twisted? ooy Juadell 1A
@ Fracture of structure (5). (5) cuS N B pus @
@ Corrosion of structure (6). (6) s 1 s @
@ Tearning of structure (3). (3) S S G el @
(d Tearing of structure (2). (2) s, ares (3)

13- What is the consequence of twinning (=l 4G el Al Lo VY

of the tendril around the support? SAelodt! Jgo GBIt Calaity

@ The photosynthesis process occurs | sl—ad! A—doe G @
in the plant efficiently. BelaSy GLAY! B (5 gual

@ The plant acquires physiological sles ol i @
support. A 9l grind

@ The cytoplasmic streaming stops )M gud 1Sy 28 9 @
inside the plant cells. LA LM S50

@ The transfer of substances speeds up | J—1 alg-adt J&5 ¢ lacts @
inside the plant. SiLadt
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14- Study the opposite drawing and then Dus @8 (laadl @ uyal =) €
determine.

S sl CBuay

JLG.A.“ Cad Gl ga R
Vesicles containing the
hypothalamic hormones

Algall cual
Hypothalamus |

2 Asad b |y
g.\:.\ﬂ\ uadll
Aalatl Bastt

Capillary in
atal (] posterior pituitary

Aol sl e

posterior
pituitary

nerve ending

What is the structure that is responsible 31580 e J ginal oS 51 Lo
for secretion of neurohypophysis hormones | 3444 ocaalt ¢ jd1 Sliga ,o

of pituitary gland into the blood? CPU I (- WY E S |

(@) Ablood capillary of the posterior | galsigadll b agasiras ()
lobe of pituitary gland. Jalad | Gaal

(b) Glandular cells in the posterior lobe | gl paall -2 iz LM (O
of pituitary gland. Sl Baal

@ The nerve ending of a secreting duac Adst duanll inlgd) @
nerve cell in hypothalamus. lgall ot b33 g 403 ps

(d The nerve ending of a nerve cell in | &uac 1l duaimilett (3)

the posterior lobe of pituitary gland. | o—atst! yeall 5519 4e
el | Bualt
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15- Study the figure that illustrates a type of | saslpos it @l guyst -\ 0
reproduction in a living organism and SLGISH a2 SIS 30
then conclude. > @ At

dglaa LD
Protective coat

What is the type of reproduction that | Aol 23S 559w Lo
is illustrated in the figure? S eyt Ly

@ Fragmentation of plasmodium of malaria. | .L,Skati »g:50350 2 plass @
@ Repeated binary fission in amoeba. eI ) ySie LS Ui @
@ Sporogony in bread mould fungus. N (e plad B @ pon @

(@ Division of zygospore of Spirogyra. | -l el ol sl ©

16- Which of the following distinguishes (it | ST e S L«:;i -\
the sexual reproduction in aphid insect | s (oo (alt 5 i o2
from sexual reproduction in honey bee? | ¢ .1 233,20 B il

@ Production of haploid alaialaizlas) @
individuals. Al Ao gamall

@ Possibility of producing females. cals) i AoiSal @

@ Production of diploid il sl sl gl @
individuals. Adall A gamal!

@ Possibility of producing males. 2853 zlal anlsa) @

[9]
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17- What is the substance that might Ol Jadioal| (0 S 3aLadf Lo -\V
be responsible for getting rid of the oo ol (e A giued| (9SS
injured tissue in plants? SEILAN (58 Colaa ) gl
@ Anti-microbial proteins. A CLSISY Balias Clidig p @

@ Anti-microbial chemicals. 381 GLISY Baliae LileesS slga @
(©) Receptors. oS! )
@ Detoxifying enzymes. cead) ¢35 Sla 331 @

18- What is the substance whose effect & 5515 8 Al S 5ol be - VA
is similar to the effect of enzymes LDt 1) 55 (i Crlany 3%
secreted by the natural Kkiller cells? § Aaidalt AGLEN
@ Perforin. 02092 @

(b) Histamine. eebiws (O
(©) Lymphokines. ClSsaed (D)
(d) Cytokines. sy Q)
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19- Study the following table and then ! @3 (S Jgamd uyal =14
conclude.
The llylng Chromosomes Prokaryotic Plasmids The mp@e of
organism oL DNA *‘. nutrition
@ st Slagusesss 319 OLd o DNA Stasaidy A A
\ Heterotrophic
L \/ \/ PENE i 94“‘3 BT
v Autotrophic
M \/ \/ A lasd) ‘:,_a"'a
Heterotrophic
N \/ \/ \/ PENE i ‘“_,_'H’a BT
- Heterotrophic
0 v v PENES [ R Ur S

What is the letter that refers to one of | asi Gt o X1 Gyt Lo
the fungi? SO ykadt

@ o. ® L. © M. @ N.

20- What is the importance of identifying | Slcod! le co,ail dedile =Y

the defected genes in the embryo JB (it (8 cctas gy S

before birth? PERH

@ Study the evolution of living SLSLS ) ygtas aculys @
organisms. )

@ Preparing drugs without side Le? Cowed ydlie slac) @
effects. ol a1

(©) Improve the human offspring. i) S i (3

@ Facilitate the child delivery. LJalal i 3a¥ g Jigad @
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21- Where are the binding sites of the dolGyl adige dagd Gl -Y)
transverse links that extend from Bllead) A yalucal! dayl gy
myosin in the structure of the ST (B wigiad) (o
sarcomere found? SALlal| Aakas
(@) Semi-lighted area. Aenad e zataidt) ()

(b Actin filaments. RS (SR @)
(©) Actin filaments and semi-lighted (S Y do g @
area. Acaad! dud dataiedl
(d Actin filaments and the dark dasdly (oS Lo g @
line (Z2). (Z) HS1an

22- Where is the axial flower found? SAdarWI 35 33 a43 ol -YY

@ Between a bract and the flower pedicle. | .33 Gic g L3 o @

@ Between a bract and axial bud. sl ae g LB (o @
@ Between receptacle and axial bud. sl @ g I (e @
@ Between the plant stem and a leaf. L4899 LA Blu (yo @
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23- Examine the picture in front of you and | 3 «ileblel ;15 5unll pamal - YV
then conclude. !

What is/are the structure(s) that AT LY S, [ S S Lo
result(s) from double fertilization? Sz el Olas ¥l e

@ 4only. ® 3 only. w23 @ w4 D
@2and4. @3and4. 4‘3@ 4‘2@

24- Why does the embryo of some seeds oany i d8 aTav 13Let Y E
keep the endosperm? S w9 N Ly 590
@ Because the endosperm is the only | juwae pyicugin ¥l ¥ @
food source for germination of all | oLy wisgtisliat
seed types. 9531 1931 pran

(b) Due to the fusion of the ovule gl 2alel gles¥ Q)
integuments with the ovary wall et 2all] ae

@ When it does not consume all of the | Js cligic ¥ Lonie @
endosperm during its development. | .4 g5 el a pew g ¥

@ When it stores food in the two B #1AAT 55 Leie @
cotyledons. (yiatat)
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25- What is the fruit in which the ovary (g () ot W (i) 5yl Lo =Y O

does not store food other than the food
stored in the seed?

£ 1UAT @ 2102 (aicel |
5501 5B () jnal
s, (D)

26- What are the immune cells that have

the ability to generate inflammation and
engulf bacteria in the area of injury?

@ Neutrophils.
(b) Monocytes.
(©) Macrophages.

@ Basophils.

¢ 1 Ae Liatt Ladlat La - Y1

QLEIY! Adg3 Lo B3yl
Adlate -8 Ly p OGS dealyg
SALa!

RIRERITRVRIN ()
3191 B g L S @

B S Hcaal 3| LS @
JAsae LAt L s @
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27- Study the drawing and then conclude. | ! @ e ) upal =YY
B VOD qoo
k\ . L2
A Boo ) \/\;g*%:;i,oo 0 W&
tb OOD § \QAU Uvo
DO&A x oav
What is the structure that Allay ¥ SO oS XU s
the letter (A) doesn't represent? S(A) Qa1
(@) Antigen-binding site. et sl gs (1)
(b) The antigen. se¥l ()
(©) Antibody-binding site. Bladile YL bli¥ide )
(@ A protein on the surface of the pathogen. | .o yeel! 38 pau e gz (3)

28- Study the following diagram and then conclude. | ! 3 Y adasill gy sl = YA

effort of oxygen

Accumulatlon

Gigorous muscul@_{ Shortage ) [ Conversion of Anaeroblc cellular Of lactic acid
Shortage
of ATP

glycogen into g]ucose respiration

EvpE
oadd / 4?:"3&’
ATP
Why does glycogen convert into I G gSadantt Jgoiy 13Lad
glucose before the beginning of Ades 145 o J—B 35Sgl>
anaerobic respiration? $198 M uait
@ Because glucose oxidation doesn’t | zlixi ¥ jsSslod! suasi oY @
need respiratory enzymes. e Ol 31 N
@ Because glucose releases more ST Ay a8 glantl Y @
energy than glycogen at oxidation. B8 e (i St e
@ Because the consumption of glucose 31350t 598 glon | I Mgial (¥ @
increases during anaerobic respiration. (o190 S uaiid L]
(@ Because glycogen can’t be oxidized | @wsi oSes ¥ sl ¥ @
in the absence of oxygen. S ¥ Gl Wl b
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29- What is/are the organ(s) that ,.:uf i s Laa¥ |/ giatile Y4
considered as a safe place(s) for embryo | ;i geig ;ousS Lol Gilse
formation and development in human? SLUAN B
@ The uterus and the vagina. Jagally @ I @

(b The uterus only. RRTPRRIN @)

@ Fallopian tube and the uterus. PSR (PRI (Y1 T @

(d) All organs of the human female Slemttsliact puen (D)
genital system. SN Al

30- Study the opposite drawing and then Reete P RPN [ {POPRS [RVETY I
conclude.

What are the numbers that refer to P8 (- i (P Y W (W)
the placenta? § Aatiinal |

(@) land2. 2.1 (O
(b 6and7. 7¢6 Q@
(©) 5.,6and7. 7:6:5 &
@ 6,7and9. 976 (3
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31- What is the ratio between the number | Glal sae (o dewid) Lo =¥

of turns in DNA molecule and the z'93) ade g DNA jn (-2
number of nitrogenous base - pairs e Ao g it Aol gt
respectively? e

@20:1 \:\'~®
@1:20 \'~:\@
@10:1 \:\~@
@ 1:10 vy 3

! @8 () gice LS|

32- Study the drawing for the division G plawans ¥ ey upal =YY
of a cell mitotically and then conclude.

=5 = &=

(1) (2)

Which of the following is not &) gutond L oy ¥ (s Las (61

considered a reason for the occurrence | (1) s p—u 31 (=2 i

of the change in the drawing from (1) $(2) S

to (2)?

(@) The aqueous medium inside NERENTORE RN )
the cell. PR ]

Chemical substances and radiation. | .elaa¥y acileesi slgel! @
Disturbance in cytoplasmic division. | st s pluail b Js @

®0e

Disturbance in the formation of Do goidn (3 95T (-0 L5 @
spindle fibres. e ]
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1Ol 3 J13w JS) (ddatie (pe HLia 1) A gud gad! Al - LA

33- Study the opposite graph that illustrates | Jolaed! ALedtl @ 231 (sl -¥¥
the changes in mass of potato strips that | ats o &l i) pings 2!
are immersed in different concentrations | 2 augesed! yutolla dialad
of sucrose solutions and then conclude. | Jgloe (y—s dalisee O3S )5

) @3 (g pSuad |

g A 1
(p2) okl b 4
Change in mass
of potato strips (g) 3T
24
14+
! } + . } b 3
1 2 4 S5 6
14 SesSed) Jslan 385
24 (Ve [ p2)
Concentration of
-3+ sucrose solution
al (g/100 ml)

What is the concentration that restores | a—as git1 & 0 Lo

e T

the wrinkled potato strips to their o AiaSial ) (ulo Lot alad
normal tension (swelling)? S redalt (g3 1a01) 5 43
@ Zero gm/100 ml. Je Ve [ i @
@ 1.5 gm/100 ml. Je Ve e V0 @
@ 2.5 gm /100 ml. Je Ve e Y0 @
@ 3.5 gm/100 ml. et feare O
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34- Study the drawing that illustrates an 2y e g3 S ety | g pal =Y
experiment carried out by a scientist and | .zl @3 clelall usi lgs al3
then conclude.

Light

i | aiza s Uaky dUaka “x' Gilad o Unky Slaka

| Tip covered [ % Tip covered

by opaque by transparent cap
cap

What could be concluded from the v A L) (Sian (S0 Lo

experiment that is shown in the drawing? Syt L Aoy gat ) Ayl

@ The growing tip is the region of dalaio & dcelid) deal @
response to the stimuli. DA Bl

(b) The growing tip is the region of dilate oo Zealid) 2eat ()
reception of stimuli. LAl Jlaiw Y

(©) Removal of the region of reception | JLaiu¥! ddkais ati3l ©
leads to the death of the region of | 4dlaie Sy ) (33—

curvature. sl ¥

@ The growing tip isn’t always Lodty Coawd Galill deat! @
responsible for reception Jdiwl e At gicuse
of stimuli. AT

35- What distinguishes the living organisms that | aedt SLGISH e it Lo Y0

provide their young with parental care? VS PP e
@ Primitive. A @
(b) Small-sized. B o (D)
@ Short-aged. poad| 5 pricad @
(@ Developed. s, ()
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36- What is the correct order for the fjs Jeal zowall coG 5 Lo =Y
action of both humoral and cellular Ao liadl g Adalsnd) dcliall (po
immunity? Saasl
@ Coincident. Ol e @

(b Successive. Ol e @
@ Separate. Olilasie @
(d One of them stops the other. Y Lealiat i (3)

37- Study the drawing in front of you then PEPRTIPI PYFP RS (PR TRy o
conclude. !

What is the case which requires the oo Jomid! CdlalS 1 At Lo
conversion from (1) to (2) in DNA? SDNA s 65> 2 (2) M (1)
@ Forming zygospore o8 a5 yond | B M (33553 @

in spirogyra. :
PIrogy L g s

Formation of primary Logiall Ladt eSS
spermatocytes. PP
Binary fission in bacteria. L S G LA Hllads ¥

®0 ©
OO® ©

Budding in Hydra. Dyt 5 e il
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38- What is the similarity between (etlas (pm) Al A g Lo -TA

transcription and translation processes LM (-8 Aa y01g jeacd!

in prokaryotes? 831381 OLY i

@ The products of the two processes. Oicloat | 23193 @

(b) The building units that are used in | &SlitiSli_as 11 @
both of them. Lagie JS R PRES A |

(©) The site of occurrence of the two (o JS Gy > pBg s ®
processes. Ocilaall

(D The type of enzymes that are used | Aeiiicall cilas ¥ e ()
in both of them. Logia JS
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39- Which of the following describes the | jme 35 iuas by Las §i -1
nerve impulse that transfers through I JEUiat | (aalt J L
the sarcolemma and which transfers (aal! Jliudl g Lot oS sl

through the nerve fibre? § (anl ) adlt IS JETeed |

(@) Occur at the same time. 2B it 3 ol (1)

(b) Have the same nature. Aandall guii Legt ()

@ Have different nature. Aalise dacds Log! @

@ Originate as the result of the same S| i A Ol @
stimulus.

40- What is the similarity between 090380 O Alid) dg La -8
vassopressin and aldosterone Aogedt! Ae oI oLl
hormones? RSP (IR PRV
(@) Their target cells. bagdti labys (1)
(b) The type of their secretory cells. Logd 33 paalt LM ¢ 95 @
@ The stimulus that causes their secretion. | .Lea),a¥ cocuadl piial! @
@ Their chemical structure. laiSI LageS 3 @
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41- Study the drawing that illustrates the life
cycle of polypodium and then conclude.

393 o 91 (ST @t p T 1 (g 53] -¢)
.C_"«.ﬁ.u“nﬂ4):c.~‘9.&!‘3\:¢:~

How many individuals in the stage (A) are | (A) dt> yat 231,8¥1 sue @S

produced by the stage (G)? 3(G) U ot o AL

@ Unlimited number (@ 39 e yi & Sue @
of individuals. A1,

@ A number equal to the number of S—e 9wy s @
the structure (H). .(H) cas

(©) One individual only. daddalgsyrd ()

(@ A number equal to the number of S by 3o @
the structure (I). (D) s
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42- Which of the following characterizes | ZaLd ) LM juas Gt Lo -8 Y

B-cells from plasma B cells? § A AOLE LM e
(@) Their ability of producing pluaigliol e L5y ()
antibodies. 3aliae
@ The line of defense in which they aS;laetl gl autida 5 @
participate. .4d
(©) Presence of receptors on their oo O Giue 352 @
surfaces. Lgmlau
(d) Their ability to secrete cytokines, |2 >—>le—te L&t ®
LS gt
43- What is the reason for non-repairing Qo 7o) pds s Lo - £V

of the damage of genetic material of S gyl A 3981 BaLat

poliomyelitis virus inside the host cell? Solalt Ads Ja1a Jlakad

(@) Because of the absence of ligase d3 s daap b Olea 33 oliad @
enzymes inside the host cell. ~Blatt ads

(b) Because the genetic material of the | paral 818 saled| 0¥ ©
virus is single-stranded. -y dag ydi (e O g8

(©) Because the ligase enzymes are a3 Sleisl 0¥ ()
specific in repairing the damages of | w8 Hbo¥ dawaiis
genetic material of the host cell only. | -da2 Jilalt 2515501 3aled)

(@ Because the genetic material of the | =" salot! oY (O
virus dosn’t penetrate the nucleus of | 392 G ¥ (g sl
the host cell. ~Bilat! ads
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44- What is the consequence of the ol A i) Aol Lo -8 ¢
presence of more than one codon for CUEY (19398 (e ST 399
most of amino acids in the genetic 5 02081 (8 A (ole Y
code? A o0
@ Decreasing the negative effects of | 2ecbed 1 LSY Sl @

gene mutations. AL 1O palall

Increasing the variation of proteins. Ol g -1 g 945 8ok

Decreasing the negative effects of | 2=bed | JLSY Jela5
chromosomal mutations. Agduall Ol pakalt

® 06
© ®O

Translating the same codon to more | &9355! i dor 5
than one amino acid. ‘al ples (g SY
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ol d I US) (1! uauadned| dala Y1 48590 lgde dala Y1 o) Al ALY -G

45- Study the drawing that illustrates a LS 55 a9 S0 mau p 3 gyl - 80
structure that is found inside an adult AL S0l pace Ja s g ge
human female’s ovary and then conclude. e @3 (Olaa N B

A- What is the type of the division that occur | =2 o it pludi¥! ¢e L ( |
in the cell (A)? And what is its purpose? | Sddgas pocaugh Log8(A) auls!

B- What is the type of the division that occur | - dus it aluditri o La (o
in the cell (B)? And what is its purpose? | $asgus jwecadght Leg$(B) dds

46- Study the drawing that illustrates the structure | asi oS 5 g g G ga bl uysl =€
of a type of nucleic acids and then conclude. ! @8 gl (alen W1 3]

A- How many hydrogen bonds are Aden gyl daglg 1 e @S (1
present inside the circle symbolized | jLialt 551401 Jifa 529 gl
by letter (X)? 3(X) 0 Led

B- What is the organic compound that is | ad| Lt ggaall oS ralf be (0
lettered by (A)? 3(A) @
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